


QUANTITY 

COUNTED

QUANTITY 

PROVIDED
PART NUMBER DESCRIPTIONS LENGTH

SHEET LIST 

(INSTALLATION)

SHEET LIST 

(FABRICATE)

PIECE 

WEIGHT 

(LBS)

WEIGHT (LB) NOTES

MATERIAL & HARDWARE

3 3 LP7X125‐BW‐20A 7" x 1.25" Flat Bar, Base Section with 5" Offset, 20 ft. Long, welded in field. Connection Type A 20'‐0" A‐3 LP7X125‐BW‐20A 667.6 2002.8 Galvanized

1 1 LP7X125‐BSW‐20A 7" x 1.25" Flat Bar, Base Section with Step Bolt Brackets, 5" Offset, 20 ft. Long, welded in field. Connection Type A 20'‐0" A‐3 LP7X125‐BSW‐20A 672.6 672.6 Galvanized

3 3 LP6X125‐G‐20AB 6" x 1.25" Flat Bar, 20 ft. Long, Standard, Connection Type AB 20'‐0" A‐4 LP6X125‐G‐20AB 709.2 2127.6 Galvanized

1 1 LP6X125‐S‐20AB 6" x 1.25" Flat Bar, 20 ft. Long with Step Bolt Brackets, Connection Type AB 20'‐0" A‐4 LP6X125‐S‐20AB 718.8 718.8 Galvanized

3 3 LP6X100‐G‐20BC 6" x 1.00" Flat Bar, 20 ft. Long, Standard, Connection Type BC 20'‐0" A‐5 LP6X100‐G‐20BC 531.1 1593.3 Galvanized

1 1 LP6X100‐S‐20BC 6" x 1.00" Flat Bar, 20 ft. Long with Step Bolt Brackets, Connection Type BC 20'‐0" A‐5 LP6X100‐S‐20BC 540.7 540.7 Galvanized

3 3 LP6X100‐G‐10CT 6" x 1.00" Flat Bar, 10 ft. Long, Standard, Connection Type C with Termination at top 10'‐0" A‐6 LP6X100‐G‐10CT 299.1 897.3 Galvanized

1 1 LP6X100‐S‐10CT 6" x 1.00" Flat Bar, 10 ft. Long with Step Bolt Brackets, Connection Type C with Termination at top 10'‐0" A‐6 LP6X100‐S‐10CT 304.5 304.5 Galvanized

3 3 LP6X100‐G‐20TT 6" x 1.00" Flat Bar, 20 ft. Long, Standard, Termination at both ends 20'‐0" A‐7 LP6X100‐G‐20TT 408.3 1224.9 Galvanized

4 4 CPL‐A Link Plate Cover, PL 3/8" x 4 1/4" x 2'‐1", A572, Grade 50 ‐‐‐ A‐4 F‐C 11.5 46.0 Galvanized

4 4 CPL‐B Link Plate Cover, PL 3/8" x 3 3/4" x 1'‐ 8 1/2", A572, Grade 50 ‐‐‐ A‐5 F‐C 8.3 33.2 Galvanized

4 4 CPL‐C Link Plate Cover, PL 3/8" x 3 1/4 "x 1'‐ 6 13/16", A572, Grade 50 ‐‐‐ A‐6 F‐C 6.6 26.4 Galvanized

4 4 PP‐45 Pipe 4 1/2 O. D. x 0.674 Wall, A53, Grade B 2'‐10" A‐2 ‐‐‐ 82.0 328.0 Galvanized

4 4 R71‐18 Williams 2 1/4" Dia. All‐thread Rod (150 ksi) X 12.5 Ft. Long 12.50 A‐2 ‐‐‐ 176.3 705.0 Galvanized

8 8 R73‐18 Williams 2 1/4" Dia. R73 Hex Nuts ‐‐‐ A‐2 ‐‐‐ ‐‐‐ Galvanized

8 8 PLW‐1 PL 1 1/4" X 4 1/2" FLAT WASHER, A527 Grade 65 ‐‐‐ A‐2 F‐A 3.7 29.6 Galvanized

48 51 STEP BOLT Step Bolt 5/8" Dia x 8 1/4" Long ‐‐‐ A‐3,A‐4,A‐5,A‐6 F‐A 0.75 38.3 Galvanized

269 283 HB16‐2 Lindapter 5/8" Type HB Hollo‐Bolt (HCF) ‐‐‐ A‐3 ‐ A‐7 ‐‐‐ ‐‐‐ ‐‐‐ Galvanized

24 26 HB20‐3 Lindapter 3/4" Type HB Hollo‐Bolt (HCF) ‐‐‐ A‐4,A‐5,A‐6 ‐‐‐ ‐‐‐ ‐‐‐ Galvanized

4 4 SHIM‐M16‐1 1/4" Thick Shim For HB16‐2 Hollo‐Bolt ‐‐‐ A‐1 SH2 0.3 1.1 Galvanized

4 4 SHIM‐M16‐2 3/16" Thick Shim For HB16‐2 Hollo‐Bolt ‐‐‐ A‐1 SH2 0.2 0.8 Galvanized

8 10 SHIM‐M20‐1 1/4" Thick Shim For HB20‐3 Hollo‐Bolt ‐‐‐ A‐LP‐BC SH2 0.6 6.4 Galvanized

Following Items are Non‐standard Parts

2 2 --- LANCO /HENRY 287 WHITE ACRYLIC ELASTOMERIC COATING AND SEALER (OR EQUIV) (GALLON) ‐‐‐ ‐‐‐ ‐‐‐ ‐‐‐ ‐‐‐ PROVIDED BY CONTRACTOR

  ALL LPXXXX and RLPXXXX PARTS ARE

  AVAILABLE FROM METROSITE, LLC.

  180 IND PARK BLVD COMMERCE, GA 30529  

   OFFICE: (706) 335‐7045

        FAX: (706) 335‐7056                          

NOTE: ALL MATERIALS, WHICH WEREN'T LISTED IN THIS SHEET, ARE ASSUMED TO BE PROVIDED BY THE CONTRACTOR.

11297.3

BILL OF MATERIALS

TOTAL WEIGHT (LBS) =
























